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10.

Answer ALL questions.
PART A — (10 x 2 = 20 marks)

What is the difference between row major and column major order?

Write down the recursive routine to obtain Fibonacci sequence up to a given
number.

What are the steps involved in deleting a node from a singly linked list?
What is meant by an input restricted queue? Where it is used?

List out the applications of threaded binary trees.

Why is the path between any two nodes in a binary tree unique?

What is the best case and average case analysis for merge sort?

Name three conditions under which sequential search of a list is preferable
than binary search.

Mention any two applicants of graphs.

Why is the algorithm for finding shortest distances important?
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PART B — (5 X 16 = 80 marks)

Write a C program using pointers to compute the sum
elements stored in an array.

Write a C program to find size of union and number o
reserved for it.

Or

Describe the basic concepts for allocation of storage and a
scope of variables in data structures.

‘Write a note on efficiency of recursion.

What is meant by stack ADT? Give any one implements
gtack. Explain the operations used with suitable algorithms.

Convert the infix expression (a*b) + ((c*g) — (/D) into its eqn
polish and reverse polish expressions.

Or

How does a queue work ? Bxplain the algorithm to insert ar
an element in

(1) Queve
(2) Circular queue
(3) Double ended queue.

What are the reasons for implementing linked lists in ar
cursors instead of in dynamic memory with pointers?

Describe the implicit array representation of a binary tree.

What is an expression tree? How can it be used for eval
expressions?

Or

What are the different tree traversal techniques? Ex;
applications with examples.

Justify : Merge sort is efficient for linked lists than for contiguo

Or

Describe the basic concepts of sequential and indexed sequen
in data structures.
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Write a routine to find a minimum spanning tree of a weighted direct:
graph. lllustrate with one example. 10+

Or

Explain in detail the traversal methods for graphs and compare the
complexities. (10+
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